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Note :—  Answers may be written either in English or in Hindi
but the same medium should be used througﬁout the
paper. -
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Attempt any three (3) questions from Part A out of five (5) and

any two (2) questions out of three (3) in Part B.
There are no internal choices. All parts of the question attempted
is compulsory.

All questions carry equal marks ie. 15.
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(i)  Explain the tendency towards equalization of factor prices
‘ “afe J " iy the Heckscher-Ohlin model. 5
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(i)

How does intra-industry trade differ from inter-industry

trade ? If firms are not symmetric, then international

winners and losers among

trade would generate both
omies of scale

firms in an industry having internal econ
9

and imperfect competition. Discuss.
f information technology

I’s theory of
6

In India, Bengaluru is a hub o
industry. Explain in the light' of Marsha

external economies of scale.
PTO.
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When domesti.c and foreign currency bonds are not

perfect substitutes, the Central bank can affect the

exchange rate through sterilized intervention. Explain. 9

Discﬁus; the Monetary Trilemma fac;cd by the
policymakers while achieving the goals of internal émd
external balance. . oy ' Sy 6
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Central bank of 'Turkey observes that the effect of a
temporary increase in the government expenditure 'has
different effects on real output when its exchange rate
is perfectly flexible compared to the case where it tries.
to maintain a fixed exchange rate. Explain the observed
results by the Central bank of Turkey assuming capital

to be perfectly mobile in both the cases. 10
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Discuss the Uncovered interest parity condition under
the perfectly flexible exchange rate and the fixed excha?nge_
rate regimes with perfect capital mobility. 5
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Describe the fundamental long-term problem of the
Bretton Woods system as pointed out by Robert
Triffin ? Discuss the mechanics of imported inflation from
abroad when the exchange rate is fixed ? 10
Write a short note on Financial Trilémma in an open

economy. 5
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